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1. Consider a two-person zero-sum game with the following payoff matrix 0 1 2
−3 0 3
2 1 0


Apply the pivot method and find the value of the game and a pair of optimal strategies for the two
players. Write all details of each of the steps of the algorithm.

2. Consider the following linear programing problem:

maximize 2z1 + z2 + 3z3

subject to the constrains
2z1 + z2 ≤ 2
2z1 + 3z3 ≤ 2
z2 + 3z3 ≤ 2

and z1 ≥ 0, z2 ≥ 0 and z3 ≥ 0.

(a) Formulate this problem as a two-person zero-sum game and give the payoff matrix.

(b) Find the value and a pair of optimal strategies for this game.

(c) Find the solution to the above linear programing problem with optimal values for z1, z2 and z3.
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